mo# B+

eomxERyv=<—ococz= | [ LI 117
~|© Lol < o]oo
EeRoCoEAHRE: ~woo =
=) o |w] <o
ESRooAHR-©co =
o] oo] —~ S =l G )
EQRw o BRIRL-E R
ofoo|wf <] — S [N =)
ESRWORIRE:-~woo =
' B = B Y < — o|~fwo] < ©
QR WORLRE~o o = EQRHKEE b v =<—0o s
. ) o Lo Oloo|a| <]~ =) 54 2] ) < |
ESlmYoRIRN-HER ESRwWORNHXKTERK
| oo —| e wlm ~ 0 N =) o<
QR YORYRIE~woo 8 EQROwORN UK oo =
©loof =~ o <t =] N ) wle~foo ©
fm@%A.OmﬁﬁmﬂlJloom +m®.ﬁﬂﬂ40mﬁﬁﬁ7tﬁ@%
[3e) oo <l o~ ] <o © =) o~
ESROBRLRNERNY ESRYoORL KN —oo =
) o~ 1) N1 el ae) B ) 0 ) on|of o] <= 0
ESREMORLRY~woo = ESR® ORL KT ERH
< — 7] s ~ © ool ] il G B s G EE) e
ESRCORLRYy ~co = ESE P oRLK N ~co &
. - oo —|wvla] < e - ofe=f <t Lo ©
ESRNoEALRE-WIER ESRVNoEN A T-HESR
wole~fo|—]wo N i 2 00 o= <t © [
ECRE OB ERb~woo = ECR BN Khwoo =
~|oo <o —|x N ) 0 N1 2] =) o<+~
EQRNOERERE~oo = EQRNOEREHb—oo =
el Bl Bl Bl ST ot N Bl X B el (SN el Bt o Bl SN B =3 =1 el KN
%ﬁmﬁﬁm S [ Y] I¥a] Eal Bl Rl Bl [95] Kae) KN} MWADG.HEW (=] Bo Rl Kael Kae] [27] Fop] Kol Bl
iy 2y Gy ERY E2 2l [N [ [y s i B2 [ iy iy G2 R By [N [y s s 2
F=Z=Z=21=Z1=2 =2 == === =H=Z==Z=)= = === =2 =
1 I
B Iy
= ag e
X e X x| | |e
N H N H
i 5 e e 5 i B A s b e e
il |=flaE =l el iy s N U ES B o
i [y o e i e ! ) i i e ! 22
hl‘123456789wum @ .1123456789WH
= £ &

1/2


suekis
四角形

suekis
四角形


FRE2 4 EE

FOOERBERY EBELEBDH

1/ 2~

RE—ER

WELIhER R 2 7 L VR 2 49 H 16 H(H)
EH 141 241 31 4 {1 5 {iI 6 i 7 i 8 {ir
100m 15 G 11.01(+0.9) |£2H FX 11.34(+0.9) |l B& 11.45(+0.9) [FJ)Il 15 12.01(+0.9) |&3L  #fst 12.04(+0.9) % & 12.12(+0.9) |HA EE 12.54(-0.7) |FE A 12.62(-0.7)
2 LAY - HRF i LAY - 7 VT AT (LA - KA i LAY - ey LAY - #RE T LAY - detri LAY - JERF T LB - FN T
9 1500m |[EIR #HE 4:08. 37 {5 QE == 1N 4:09. 79 VN N7 4:10. 53 A WA 4:22. 35 ol EA 4:28. 40 HAK fH— 4:31.15 R 4:35. 25 (L S 4:49. 54
g (AL - KA AL - FURFrT LA - AR WAL - BT VT AT TR o i) LAY - JEWRF T LAY - R (LAY - HRRE
x E M= Bk ESUNT-WN 6m47(+0.3) |F)II  T5 6m32 (+1.9) |mtE  —#t 6mi2 (+1.1) [ 3k 6m05(-0.2) iR HEA 5m66 (-0.4) |fRfFE SR 5mb52(-0.3) |l FES 5m26 (0. 0)  pAK  F5kdf 4m72 (+0. 1)
(UL - FE 7 VT AT LAY - e LAY - HORF LAY - R LA - FN (LAY - JEIR T TN ) (LA - 2B
100m HH EH 11.86(+0.5) LA FH] 12.03(-2.2) ¥ &7 12.56 (+0.5) |f&pk UG 12.65(+0.5) |Fik BE&E 12.77(=2.2) | RFF EKEB 12. 78 (+0.5) |HAT  HFH 12.81(-2.2) | & #®HA 12.93(-2.2)
B LA - ey (LA - deAtkri TRt == i LAY - K H T WAL - FT VT A LB - HRE LA - LA LA - HRF T
g 1500m | B[ 4:17.79 L% 4:19.13 R TR 4:29. 00 VAN % 4:36. 24 PEE E— 4:37.03 wE Wz 4:37.83 YA JEE 4:51. 09 Kl PRz 4:53.29
= LA - i AL - BT VT AT LAY - R LA - 2T LAY - dektri L - FN T AL - HR R A - KA
= Atz tE 10m19 BN B 9m04 A I 8m63 S K 8m60 HE ®RIE 8m36 g BE Tm31
1. 26kg LAY - 3T A - SEIF T LAY - dektri LAY - #RRE T L - FN T LWL - FE 7 VT AT
100m Koty R 11.89(+1.7) | Z21L. M 12.80(+1.7) yAE)II M — 12.89(+1.7) | B — 12.90(+0.7) |l T 13.07(+0.7) /A F K% 13.12(+0.7) |fRjE X¥HF 13.21(+1.7) |1 AHE 13.82(+0.7)
C (LA - HURF i (LiAd - H 3T LAY - F 7 LT AT B - RN T LAY - R LAY - JEIRF T LAY - AL I e ]
H g 1500m K = 4:33.24 B Bl 4:39. 50 P TEAS 4:41.40 WE E 4:42.70 ey IEH 4:59. 39 i R HR 5:03. 56 W 2 5:06. 47 N 5:10. 63
gg& (LA - 3T TR R AT ] (LA - HURF T LAY - R (WAL - F 7 VT AT IR = i AL - FN T LA - KA
R FENE Bk Pkt = 5m34(+0.3) [l Téh 5m20 (+0.5) |21 Mk 5m09 (-0.7) | HEJII A 4m89(-0.3) |fEW EH— 4m87(0.0) |l AHE 4m80(-0.6) |JII%E Jf— 4m54 (0. 5)
5 I 1Tt ) (LAY - 2B (AL - BT T A LA - FN (LA - detki (LA - KA
£ 100m BRI FEIE 13.81(0.0) Juili 14.04(0.0) & B Z% 14.11(0.0) 8% 15— 14.16(0.0) |#& UN 14.39(-1. 1) 5@ 2k 14.40(0.0) |1 #54 14.49(-1. 1) W& /&t 15.78(-1. 1)
D AL - HR T L - FN T (LA - H 2T WAL - f 7 VT AT L - mEEE LA - HRF T LA - K H TR A ]
g 1500m &Il HEE 4:50. 39 £ £ 4:51. 44 BeLis =N 4:59. 74 s R 5:08. 74 F2A ] P 5:11.87 He TF 5:20. 33 ERIIN % 5:21.51 WTH JE 5:23. 41
= LAY - T LAY - R LAY - JEIRF T AL - H R LA - KA LA - HURF T IR o i AL - FN T
< Atk Ay TH 10m95 = s 9m98 A 966 = OBA 9m61 R IEE 9m46 ef R 9m35 CRNE L) 9m23 JNBK H ] 9m11
4kg LAY - HRF T LAY - R LAY - btk TR e i) LB - FN T (WAL - BT V7 A A - KA LAY - 3T
E 6 0m Kb EER 8.69(+1.5) | f&¥H] 8.93(+1.5) |Hfe —H 8.94(-1.7) |lhP ZEK 9. 14(-1.7) |#BHE HEB 10. 14(-1.7) \#5@ & 11.27(-1.7)
0 LA - etk LA - FRF T (WAL - 7 VT AT LA - KA gL - RN T LA - #REE T
fi 1500m |FhF fRHiE 5:21.32 A E— 5:35.99 T8 & 5:55.11 ey BEORRR 6:08. 61 M AR 6:13.55 wI BER 6:19. 21
+ TR =t o= i) (WAL - BT V7 AT LAY - HRF T A - KA (AL - FN T TR )
4x100mR HFH 47. 92 g7V AT 48. 14 AR T 49. 63 5wl 49. 95 FET 51. 74 KA 52.61 BrEEWT 53. 26
JRH  ZFER e fE2 T EEIE I\ HEL I iV i sk AR U
ﬁ Kol R FJI Al RBE  Ef R KR T e NN ¥ L A
k& ®A i EE ARFS ERER A 5eH] GETLURN g SO i IE A
(Z1 5N 2 AKX R HhE /SE- - g IR HREE Bl EE B FETE
100m i WL 13.42(-0.6) |HERF A3 13.70(=0.6) |/N#E  Fhik 13.94(-0.4) |mFH  Fid 14.51(-0.4) PR EAL 14.82(-0.4) J&%¢ MME 15.21(-0.4) W= R~ 15. 52 (0. 4)
2 AL - HRE LA - K H (LAY - JEIRF T LA - & E L - FN T WAL - 7 VT AT (LA - 3T
9 800m Ll ACHE 2:34. 09 e E<B 2:39. 64 HTH (X520 2:43. 41 IBR S R 2:45. 80 RN B 2:46. 25 N &7 2:48. 22 RE AR 3:41.92
g AL - HR R LAY - F 7 VT AT L - FN T (LA - H 2T LAY - 3EIRF T (LAY - dektri (TR}
+ ErERk G . 4m94 (+0.5) |BE DO H Am77(+0. 1) |Prlc EAL 4m67(-0.1) |/hE o 3m95 (+1.5)  |3)I| [ 3mb8(+1.4) | JEFF JfE 2m96 (+1. 0)
L - HR R LA - FRF T LAY - M T (LAY - detri LAY - T (WAL - F 7 VT AT
B 100m IR BET 14.73(+0.7) |[R7WE =ik 14.85(-1.3) |l F&H 15.13(-1.3) \&E ME 15.52(+0.7) | =& & 16.83(-1.3) /MK A 17.56 (+0.7) | A% FEfd 17.87(-1.3)
g TR = e i) LA - FRF T (LA - dektr (WAL - BT VT AT LAY - #EE (LAY - JEIRF T LA - 3T
= fatix M RET 8m73 A BASE 8m21 0 % 6m94 ML HHSE 6m90 RS S 6m84 =&Yy BT 6m76
rRAS 4kg TR = o N (LAY - JEIRF T (LAY - HRF T i (WAL - 7 VT AT LAY - FRE
g<: 100m HR EE 15.10(-1.7) & F 15.14(-1.8) | 257 15.86 (-1.7) 20T  ZE#d 16.46(-1.8) 25 FEi 16.57(-1.7) =g T 17.13(-1.8)
b (LAL - F WAL - KT WAL - ekt WAL - H2ET \LIAL - By i WAL - EFiT
Xz AENEBE L EA 3m61(-0.9) JimpE v 3mb5(-0.1) KA B 3md8(-0.2) |HE fEET 3m25 (+0. 5)
T # DLBL - FE LB - HiF LB - ettt LB - et
g 6 0m A T 9.87(-0.2) |HIA UOT¥ 9.93(+0.9) |Ffx T 10.54(-0.2) &%  FT 10.61(=0.2) FEA JNEEE 10.69(+0.9) | K# &+ 10.78(-0.2) WAH H LY 10. 81 (+0. 9)
0 ILAd - #RRA T LAY - JEIRF T WAL - FE 7 VT AT IRt e i AL - FN T LAY - K H i (LAY - 2T
ﬁ fafi% g 342 8m43 HA  ONCT 8m14 AR KT Tm37 AR AN 6m96 H o OFT 6m43 fH A ED 6m43 N eSS 5m26
+ 2. 12kg LAY - HURF i LAY - JERF T LAY - #RRE T AL - BT VT AT TR = e i) LAY - T L - FN T
4x100mR |#& 53. 15 R 54. 90 bAt 58. 75 F2E T 1:00. 01 g7 VT A 1:03.35
B ¥ KW =% KA Bk R 8% ¥l ME
ﬁ e #h%E BR OlH g S5 SO e FRF E
g % [T/ ==Y 53 MR EoX L ER e A
sy ACHE N J7R ESH IR RIS HE E<bH

[YH: ESKEEHR /" TKEEZHY ]


suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形

suekis
四角形




